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FH F@AAT A 6 TAGT AT TG T 1885 HA A% Few

(1) s (2) ¥oE (3) R (4) swfEH

Guru Ramsingh, the leader of the Kuka Movement died in 1885 A.D. at

(1) Nepal (2) England (3) Burma (4) America

1772 Bl iR T T Fo1 Hegor TIRH 92 T aftn gftwg i fresuaet foe.
(1) e fgam (2 Team (3) ORI 4) TPFRRR

In 1772 the posts of were abolished and the revenue administration was placed under
the direct control of Governor and Council.

(1) Naib Diwans (2) Diwans (3) Collectors (4) Mamlatdars

foftrea agER Fven Fewril Hafyd B 2

(1) T H | () foamE we

(3) TR % (4) @ e

Pritilata Vaddedar was associated with which of the following Conspiracies ?

(1) Kakori Conspiracy (2) Chitgaon Conspiracy

(3) Lahore Conspiracy (4) Meerut Conspiracy

fsdo yrEfedel Feset AW aNfeaTs I8E VIadie Hivee TsHTd e Bl ?

(1) & (2) IS (3) TR @) TETY

In which Indian state did the Rampa tribal uprising against the British rule take place ?

(1) Orissa (2) Bengal (3) Bihar (4) Maharashtra
Gefted®! fasie e e,

@ ‘wimEr @ ‘W 3) ‘TMEER’ (4) ‘¥ T <R Bt
Pick out the odd story from the following :

(1) ‘Sangava’ (2) ‘Bhar’ (3) ‘Rama Mahar’ (4) ‘MiJat Chorli Hoti’
SHTSH A i o 2.

1) =@ 2) fireo (3) T (@) HEEHA

Umaji Naik was the leader of .

(1) The Kolis (2) The Bhillas (3) The Ramoshis (4) The Katkaris

oAl THTHFETS T/ SPACE FOR ROUGH WORK P.T.O.
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(a) YIS HENH (i) T
(b) T ISR () FHIEA
(€) FwIEl TS (i) wHRYE Yofas
(d) fosenedt dfea (iv) SqEm
Tai 3

@@ () (9 (d)
1) @ @) @) @
(2) @ @ @& @)
@ O @ @ (iv)
4) (v) @) @@ @
Match the pairs :

(a) Bhau Mahajan (i} Dnyanoday
(b) Henry Valentine {(ii) Dnyanprakash
(c) Krishnaji Ranade (iii) Dnaynadarshak-Trimonthly

(d) Vishnushashastri Pandit (iv) Induprakash
Answer Options :
@ O © @
O @ @ @ o
@ @ O @
G O @ @
¢4) (v @) @ @

8. TM HIHTT AT TR F0EH G o,
(1) wefres (2) dFERS (3) & SfEdw (4) fTa=m sisEw
started spreading education in Konkan.

(1) Elphinstone (2) Worren Hastings (3) T.B.Jervois (4) William Jervois

oAl HIWTETS SR/ SPACE FOR ROUGH WORK
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9. woe faum faame =i
(1) 391608 7 HeA facam giew goon el
(b) TN SEFREHET A 49 SR SYRTITEE! warr fyafad.

Whﬁ I :
(1) (a) T 3R (2) (b) TR R
(3) (a) MW (b) 3THH ARA (@) (a) 3 (b) T AR

Consider the following statements :

{a) Captain William Hawkins came to Surat in 1608 A.D.

(b) He obtained permission from Jahangir to set up a factory at Surat.
Answer Options :

(1) (a) is not correct (2) (b) is not correct

(3) (a) and (b) are not correct (4) (a) and (b) are correct

10. TEIS IR SV SHeRiTe quid fae ang ?
' (@) O COiETRT mRifaEeade uEe YRAd MR B
(b) T AR S e ofye wriearer #RvR fawra.
(c) e vam= wE T § foete TR wshig .
(d) A =EE IAE Ifed’ € IO GE FO,

it I :
(1) TS UHEEA 3G (2) T s Hea
(3) <RIME A (4)  IITEEH RGeS

Whose description is given in the following sentences ?

{(a) He was the first Indian professor at Elphinstone college.

(b) He took charge of the London office of a business firm.

() He was active in British politics as a member of liberal parfy.
(d) He started the newspaper ‘Voice of India’.

Answer Options :

(1) Raja Ram Mohan Roy (2) Sir Phirozshah Meheta
(3) Dadabhai Naoroji (4) Gopalkrishna Gokhale

oAl HIHHEE 9FT/ SPACE FOR ROUGH WORK P.T.O.



w16 6

11. THES FLIS A YR [RSTH! ol Faure HwIq S ?

(2) irAfa (b) L fem () wRem (d) =1
it 39

(1) (a) T (b) Tt (2) (@) (b) 37 (c) Fer

(3)  (a) 3T (d) (4)  (b), (o) 3T (d) e

Homerule movement was propogated through which of the following newspapers ?
(a) Commonwill (b) New India (c) Harijan (d) Swarajya
Answer Options :

(1) (a) and (b) only () (a), (b) and (c) only

(3) (a) and (d) only ' (4) (b), (c) and (d) only

12, faig AR sHeErn

(1) T e gormit (2 g am

(3) @ (4) T R 3T

Pick out the odd play from the following :

(1) Tuze Aahe Tujapashi (2) Sundar Mee Honar
(3) Swapniche He Dhan (4) Tuka Mhane Aata

13. YEI© SrEma FHU 9uid Fos 3778 ?
(a) 20 S 1879 = wearmst fardtw Sifyaprit SFaem oI seh Fo,
(b) T usA AHie g Bl
(c) o1 IR WA A TS Ueie gomad 17 hadarit 1883 st fAe 7o,
gt I
(1) @St 7w (2)  AGeE 9 FSH
(3) TiUTeE HI. |13 _ (4) W] Faw
Who is described in the following sentences ?
(@) He was arrested in the midnight of 20" July 1879 by the British officer Daniel.

(b) He was sent to the prison in Aden.
(c) This brave freedom fighter passed away in the prison in Aden on 17" February 1883,

Answer Options :
(1} Lahuji Vastad (2) Vasudev B. Phadke

(3) Gopal M. Sathe (4) Saadu Kamble
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14. HIEH1 U WM OIS A AR Y A SR I,
(1) sixeieH () . 3tfme Fidt feH
(3) SEg e (4) TS WM
Esplanade, a part of Bombay (now Mumbai) was later christened as
(1) Oval Maidan (2) August Kranti Maidan
(3) Azad Maidan (4) Cooperage Maidan

15. YRATT g9 TGATE GfeRarat hior gl ?

(1) S HeHE (2) W A" A

(3) fusifren desiw (4) @ fHa

Who was the liberator of Indian Newspapers ?

(1) Charles Metcalfe (2) Sir Thomas Munro
(3) Theophilus Metcalfe (4) Lord Minto

16. TEIo faum YRAKIS o SeR 9550 3Ted ?
(@) 91 TERTN Grewie Ha de SHTs foheen feig me
(b) T TR HE AEM fHed 3T AL

(©) ¥ eE b T,

(d) o DI il S0l WRAN(S FHE TR 7.
it I

1) e Ter (2) aiceTeE] oot
() TR @) ST weE

The following statements are about which battle in India ?

(2) In the beginning of this battle the French Won Fort Saint David.

(b} The French were not able to capture Madras in this battle.

(c) The French lost this battle.

(d) The French influence in South India came to an end due to this battle.
Answer Options :

(1} The Battle of Plassey (2) The Battle of Wandiwash

(3} The Battle of Buxar (4) The Battie of Ashti

wHoeAl HAEE AT/ SPACE FOR ROUGH WORK P.T.O.
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17. 1690 7o Yahd TAST 9y E FRHIES IS THE H5 a0
(1) == @) W (3) T (@ U
After 1690, Negapatam instead of Pulicat became the chief seat of the on the
Coromandel. '
(1) Dutch (2) French (3) English (4) Portaguese

18. 1875 #e fymiRgar sy At ‘sfeam I’ € Woew wunae T S Bl ?
(a) el T fireror 39,
(b) OrHHER TARTE TG SR FL.
(c) SIfRN= fear Tet wTal.
(d) <Fden A AfyER R <.

it I
(1) (a) 30T (b) Far @) (o) snfor (d) wF
(3)  (b) 3T () B @)  (a) 30T (c) W

Why did Shishirkumar Ghosh establish the organization - The Indian League in 1875 ?
(a) To give political education to the people.

(b) To arouse patriotic feelings among the people.

(c) To protect the interests of the landlords.

(d) To help the people to get their rights.

Answer Options :

(1)  (a) and (b) only (2)  (¢) and (d) only
(3) (b) and (c) only (4) (a) and (c) only
19. SEEA® R EUE 8
(1) TR Siegesht (2) AR FO BieeTHL
(3) FETST THEH ISR (4) =P T Hegdhl
Bahuroopee is the autobiography of .
(1) Chintamanrao Kolhatkar (2) Shripad Krishna Kolhatkar

(3) Krishnaji Prabhakar Khadilkar (4) Balkrishna Hari Kolhatkar

FeAT WIS AT/ SPACE FOR ROUGH WORK
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20, o= HERE WiSH A=A 958 F1d T AR ?
(a) FBTE AY 1921 FA FSAT TS Wfeed FHSA T8 B Wi=l Fae Fe 2.
(b) R T A e e o Femeren Rt JHREE YE S .
At 3
(1) K (a) T4 3 (2) T (b) T IR
(3) (a) N (b) Tea MR (4) (a) 301 (b) W T
What is true about Sivram Mahadev Paranjape ?
(a) He was elected President of Marathi Sahitya Parishad held at Belgaum in 1921,

(b) He started a journal Swarajya to propogate gospel of Ahimsa and Satyagraha.
Answer Options :

(1) (a) alone is true (2) (b) alone is true
(3) (a) and (b) are true (4) (a) and (b) are not true

21. TUNH FEM aH g o ST TEr foaae! Troreist wiv e semfag o ?

(1) % 3ot (2) sfsiar St
(3) TSR TR (@) meEr o
Which of the following place is world famous for painting of the life of the Tathagata Lord Gautam
Buddha ?
(1) Verul Caves (2) Ajanta Caves
(3) Elephanta Caves (4) Aurangabad Caves
22. B S $o i1 Wiedies ufec areges faeneff 2.
(1) e e (2) T G (3) A @) faoEE =R
was the first untouchable girl student in Mahatma Jotiba Phule’s school.
(1) Parvati Salve (2) Mukta Salve (3) Jana Salve (4) Vithabai Salve

23. Toeroms SRRl e wWUE o1 ?

(1) HSo M (2) T IEM

(3) AR g (4) T = wiem

What was known as the ‘Magna-Carta’ of education ?

(1) Saddler Commission (2) Hunter Commission
(3) Macaulay’s Report (4) Woods’ Dispatch

HoeAT HIMTEE ST/ SPACE FOR ROUGH WORK P.T.O.
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24. 1889 Wed [l ot FrolaanR srramm 0 @uE vEEie 9 8 ?

(1) SFRA e HEw (2) oA TR A

(3) wTEsht SRTS Hed (4) qHRH SrEst Sred

Who from the following had published Kavya Samgraha at the Nirnayasagar press in 1889 ?
(1) Janardan Balaji Modak (2) Vaman Daji Oka

(3) Jawaji Dadaji Chaudhari (4) Tukaram Jawaji Chaudhari

25. YRS A HIE i FS R ?
(a) I T IYRTH SEHEY A kel B,
(b) TRFEA SEISR 7 T | 9 UeT 9ed® WIS B,
(c) I e | MvEER ST Fo.
(d) <RE TasT snft o gl oy faemedf €.

it 34y
1) = T @) = de
(3) T T G (4) STESRITET AidE

Who is described in the following sentences ?

(@) He was secretary to the ‘Bombay Native Education Department.

(b) He was appointed as assistant professor of Mathematics and Science at the Elphinstone
Institute.

{c) He Wrote on Science and Mathematics.
(d) Dadabhai Naoroji and Bhau Daji were his students.
Answer Options :

(1) Justice Ranade (2) Justice Telang
(3) Gopal Hari Deshmukh {(4) Balashastri Jambhekar
26. T A I g2 WA T 3 T HTRAT Syl Joddie! Sgad +0.
(1) 9 TUFSH (2) TSE yER
(3) THHEGEM TS ITEHS (4) ==
Ruikar and , who later became the President of India activated the workers in Swadeshi
Movement.
(1) S. Radhakrishnan (2) Rajendra Prasad
(3) Fakhruddin Ali Ahmed 4) V.V.Giri

oAl HHTHST AT/ SPACE FOR ROUGH WORK
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27. 1885 W AfEw YREE T F= SOl YRAK TABTR HIv/Hor Tomd e H Hia
Breft/aran 2

(a) e srereiaEm (b) FHFE WRA
(© O W @ () sfe oo A
waidr 39T :

(1) e w 2 @ @@ @) G QAT @) (@, b A(E

Before the formation of the All Indian National Congress in 1885, which of the following political
organizations was/were functioning in India ?

(a) Indian Association (b) Abhinav Bharat

(c) Pune Sarvjanik Sabha (d) Indian National Union

Answer Options :

(1) Allofthese  (2) (), (c) and (d) @) (@)@ and(d 4 () (b)and(

28. HIIAl WS FUIR Wex e oM ?
(2) SFEFAR O A=A @IS TOE TF TE I WHeAd e gl
(b) T HIEH TR T Fradermois T +o,
(€ & wueT Hen a1 gu FramweEmn yaifad wer B,

i I
(1) fE Ra T HueT (2) FITEAMS
@) srfres afud (4) HAE T

Which organization is described below ?

(a) A small group of young men under the leadership of Barindrakumar Ghosh was in the
forefront of this organization.

(b) This organization published a periodical called Juganter.

() This organization was also influenced by another periodical named ‘Sandhya.

Answer Options :

(1) Abhinav Bharat Secret Society  (2) The Young Bengal

(3) Anushilan Samiti ' (4) Kotwal Dasta

29. WS Hi TEBTh! hivw T4t Gradar s fugmii e[ siewd S o/ ?
1) = () FEE (3) v 4 TREd

During the ancient period which of the following rivers was known as Sursarita and
Tripathgamini ?

(1) Yamuna (2) Brahmaputra (3) Ganga (4) Godavari

FHoe! HHHIG! 9N/ SPACE FOR ROUGH WORK P.T.O.
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30. 1757 AaU sivMesan el Tas WA e wone frget w2
(1) e (2) TR () fors-|g-3d& (4) @i Ew
To whom did the British appoint as the new Nawab of Bengal after 1757 ?
(1) Mir Jafar (2) Mir Qasim (3) Siraj-ud-daula (4) Shah Alam
31. dfaym wftdR TR v B[ wivme faes B 2
(1) . ufekeg fa ) . TR R
(3) TR BT 4) o T sEeEH
Who was chosen as the provisional president of the Constituent Assembly ?
(1) Dr. Sachidanand Sinha (2) Dr. Rajendra Prasad
(3) Jawaharlal Nehru (4) Dr. B.R. Ambedkar
32, TR T g g ?
(a) T2 9= (b) ek HIdl (c) & ST (d) weaTt
Tt I
(1) T<EE 2) TE s
(3) i Wiehdi® T (4) FTHARE Wichdl®
What were the following things ?
(a) Distant Thunder (b) Lok Kranti (¢) Lok Jagaran (d) Satyavani
Answer Options :
(1)  Secret Societies (2) Secret newsletters
(3) Code names of the leaders (4) Code names of the actions
33, WIHGTH! IO CEIEE HHEA - FHIvHR fAurE et oo hew i ?
(1) dlfesH (2) S9-T-TENR
(3) TEI-T-aEs (4) feodgo gonfeda
Which terrorist organisation had attacked on Jammu-Kashmir Legislative Assembly ?
(1) Taliban (2) Jaish-e-Mohammed
(3) Lashkar-e-Taiba (4) Hijbul Mujahidin
34, cfuoh gegE fmeds el ORI g W O g el g
(1) STRE Haeh FHI (2) WS 9REE
(3) A | (4) A A=
Branches of Dakshini Sansthan Hitvardhak Sabha started under the name of
(1) Bharat Sevak Samaj (2) Praja Parishad
(3) Rayat Sabha (4) Rayat Assembly

FoAT HIATHTS! AFT/SPACE FOR ROUGH WORK
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35. 1922 T Faama A9 WRSw Wi SOGS wemwwe A uieo @9
(1) s e Q) TEE TS
(3) TEdRE T (4) SftforE <@
was the president of the provincial congress convened at Chittagong in 1922,
(1) Pandita Ramabai (2) Ramabai Ranade
(3) Vasantidevi Das (4) Urmiladevi Das
36. T TiH TN AW TeSUANAS! THIAA gl AfOT TeEmn wof Tt qTepTes TerEn
i et 2.
(1) Te=n =Rw e (2) 3. TS
(3) oW AT (4) TE HEA
The then minister of information and broadcasting, , immediately resigned rather
than accept orders from Sanjay Gandhi.
(1) Vidya Charan Shukla (2) Inder K. Gujaral
(3) Arun Nehru (4) Arun Mehta

37. TaO® WIEE, FEHTE EH S TES FON Fi A6 AT Fom HIowt G =6 o ?

(1) fo = | (2) TR T

(3) o A (4) TEE wE

Vinayak Savarkar, Trimbakrao Mhaskar and Ravji Krishna first founded an organisation called
____ in Nasik.

(1) Mitra Mela (2) * Rashtrabhakt Samuh

(3) Abhinav Bharat (4) Rashtriya Samuh

38. FIURAl FHACIIAR F HS@le TG SHeTeTTIehrak el Hdl 4 Feeet 2

(1) ¥RER 9ftug wEe 1892 (2) YRGHE 4itwe S 1861

(3) HRer uftug @R 1909 (4) YIRT TTHRET HEE 1919

By which law, members of the legislature could not criticize the budget ?

(1) Indian Council Act-1892 (2) Indian Council Act-1861

(3) Indian Council Act-1909 (4) Government of India Act-1919

AT HIATATS WM /SPACE FOR ROUGH WORK P.T.O.
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39. faum (A) : feliaR 1941 728 Jufas G@mE 9F1 UG 1o,
FHROT(R) : A TS TR o §¢ e o STHATAT SIe G$Td ST STHAS TR 0.
T I
(1) (A) SR 3TE, I (R), (A) = AT FRO TEL
(2) {A) o7 (R) YRl Eel.
(3) (A) 2T (R) SR AR
(4) (A) T 3T (R) T 3R,
Assertion (A) : Individual Satyagraha was withdrawn in December 1941.
Reason (R) : Japan attacked Pearl Harbour and declared that it was entering the war on
Germany’s side.
Answer Options :
(1)  (A) is true but (R) is not the right reason of (A)
(2) (A) and (R) are false
(3) (A) and (R) are true
(4) (A) is false (R) is true
40. FfE YRTAH i1 ST TIR UGS 3Mavaes < Aifedt fHesral WA Uiiee Tafauard
(1) T STHRT TEE (2) Wigin HERE ST9e
(3) T TRAT Fel (4) SiiEHaR =9
was sent to Paris on behalf of Abhinav Bharat to get the necessary information of
making a bomb.
(1) Ganesh Damodar Savarkar (2) Pandurang Mahadev Bapat
(3) Anant Laxman Kanhere (4) Virendra Kumar Ghosh
41, 1919 943 fafew TR ®i= QM HEAEEEe FW K gaoiwes’ 337 RIE I e
2.
(1) TFOEE FHEH (2) AR e
(3) 3 =ad (4) dfea TR
In 1919 the British Government honoured her by ‘Kaiser-e-Hind Gold Medal’ for her social work.
(1) Krushnabai Ghumatkar (2) Awantikabai Gokhale
(3) Uma Chakravarti (4) Pandita Ramabai

T HIHWE AR/ SPACE FOR ROUGH WORK
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42, =feq MY ST SISO R Bt e TIRaT Tl o € ?

1) == o 2) FEA Al ENg A

@) From dsfta W@ (4) IfEm

Who was the President of India, when Indira Gandhi declared the Emergency ?

(1) V.V.Giri (2) Fakhruddin Ali Ahmed

(3) Neelam Sanjiva Reddy (4) Zail Sing
43. &S S Jel.

(a) TENE P () e i s Tz S 4

KSSid

(b) firert anftr == (i) ST B HEh

(c) da.wad onfn fa s, wEd (il 2R U, AL At FHER T 2

(d) . TUERR SR (iv) d drenfe

it I

@ ® (9 (@

1) (v @@ @@ @

2 O @@ @@ @)

@ @ @ G @)

@y () @) @ @

. Match the following :
(a} Purshottamdas Tricumdas (i) Provided money for a more powerful transmitter for
congress radio

(b) Gilani and Dave {(ii) Associate of Ushaben Mehta

(c) C.B. Javeri and V.K. Javeri (iii) Secret congress centre on Deodhar Road Matunga

{(d) Dr. Ram Manohar Lohia (iv) Congress Socialist

Answer Options :

@@ () (© (d
1) G @) @ @
@2 @O @ @@ Gw)
@) G @ Gv) ()

@ @) () @) @)

oAl FHHMEEN AT/ SPACE FOR ROUGH WORK
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44. TIHABIH HOCN WA THE A . NAR. HVSHT A FETT 1 FEFA TSR 3.1, 1942
e Fgadt et it 2
(1) WESI &S (2) FEHIR @) Toam (4) T

Which of the following department Dr. B.R. Ambedkar was appointed as a Head of Viceroy's
executive council in 1942 ?

(1) Social welfare (2} Labour (3) Education (4) Railway

45. 3. 1919 T YA 9RoE FRETER, ool FId fHar 3w 3Rd ?
(a) HEA T WA HERHESHE fa@R.
(b) TEIHEE WaT HIGR G,
(c) *hEld FTS HEaMIo GSHEEE 16 967 50 FIUIM e,
(d) HET 9 FidT FEHEB AMGPR FH How.
ugtet 3T ;
M @60 @ @ o G) © @ @ () © @
About Indian Council Act 1919, which of the following sentences is/are incorrect ?
(a) Expansion of central and provincial legislative council.
(b) Separate constituency for Muslims.
(¢) Increased the number of members of the central legislative council from 16 to 50.

(d) Authority of central and provincial legislative council is decreased.

Answer Options :

(1} @, () () (@) (a) () (3) () (d) 4 @ () (d)
46. foEn Y@ A= qEF Todw AN WA T A,

(1) <Y - FENg (2) TEERE - FAleR

(3) XYW - it (4) dTEHTED - AT

The Bhoodan Movement of Vinoba Bhave started from the village

(1) Badlapur - Maharashtra (2) Davangiri - Karnataka

(3) Darbhanga - Bihar (4) Pochampally - Telangana

FoAT HIAMEIS A/ SPACE FOR ROUGH WORK
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47. WA STA KA IR TH F3 2
STegvai e o a=de 9 Aihd S,

)
(b) fesha wFidie faemeat frsgen e

)  TOYE T I AT @ ThE SR,
d) TSI SHET Sfeshd Sear THUER HedT.
e) A SERY HIE @ 2 I SEEl.

(1) <o Herrg sfesha i wfwg (FmoEmE)

2) fee yrdE dfespd Ta afeg (APTR)

(3) T o sTegvE freRe s ()

4) vfas A sy ofs (feeeh)

The following resolutions were passed in which conference ?
Make primary education compulsory and free for the untouchables.
Scholarships should be given to students in excluded classes.
(c¢) Touch and untouchable class schools should be the same.
(d) Excluded class should be appointed. in post of Talatha.

(e) Eating carcass of animals should be considered a crime.
Answer Options :

(1)  South Maharashtra council of Bahishkrut classes (Mangaon)
All India Bahishkrut-Samaj Parishad (Nagpur)

(2)
(3) Mumbai District Untouchability Prevention Conference (Pune)
(4) Al India Untouchable Conference (Delhi)

48. vRamE R Tfger TR TarE wE FEN 8 Se oo W ?

(1) Wl HE e ) TIANNE THHAE

(3) TN B. g 7R (4) T fsateE

The credit to start the first General Homoeopathy Hospital in India goes to
(1) Fattesingh Bhosale (2) Sayajirao Gaikawad

(3) Rajarshi chh. Shahu Maharaj (4) Raja Ranjitsingh

oAl RIMTETS ST /SPACE FOR ROUGH WORK P.T.O.
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49. TYes & I A US| IR adam T wiag Fet ?

(1) R (2) Tu (3) Sguw™ (4) sEE
In which newspaper did Gopal Hari Deshmukh publish his ‘Shatapatre’ ?
(1) Prabhakar (2) Darpan (3) Induprakash  (4) Brahamachari

50. Sl HeTeo! TUIFEWM HiHdT 1948 =41 3= foayom=ar YUROrST Hauidie @ols shivd! faum e 31 ?
(a) RIS faemfieien sHamasnr ThaT H0L.
(b) TR Toeromen FioAaHt 12 auten Sl
(c) WMo faeomen HeE9d 3 a4 Ho,
(d) Frvcafirsa foeror Som=ar Heem T HI.
i S
1 (© (2) (b), (d) 3 (a) (9 @) (@)

According to Dr. Sarvapalli Radhakrishnan Committee in 1948 for higher education reforms. Which
of the statements is incorrect ?

(a) Review the syllabus of Indian Universities.
(b) Duration of school education is 12 years.
(¢) Duration of college education is 3 years.

(d) To establish skill base education institutes.
Answer Options :

1) (© (2) (b, (d) @) (@ © 4) ()

51. Tei® fay i fodlss 8 ?

(a) A ST,
(b) vica® 7o, SR 7o,
i 3

(1) AW TS (2) =i, feeok (3) T ARE  (4) TE WWHE
Who wrote the following essays ?

(a) Teen Artha Shastre

(b) Bhandval gele, Vyapar gela

Answer Options :
(1) M.G. Ranade  (2) B.G. Tilak (3) G.G. Agarkar (4) G.H. Deshmukh

o1 SIS S/ SPACE FOR ROUGH WORK
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52. YEI® A9EM S FaawemN qu 53 dr 7
(a) & FroaeE Taar feaiw 3 ufye 1927 It wias .
®) = FrEaEeEmE fHAR < s 8 At snfolt 9 e .
(c) TN A1 FraaiHE 500 €9 9 Fo.
(d) ¥ & Fraawie 1929 T d¢ I O

oIt I ;
(1) =& (2) dfEspa ¥R
(3) A (4) & TEE

Which periodical is described in the following sentences ?

(a) This periodical was published on Sunday, 3™ April 1927.

(b) The price of this periodical was 1%2Ana and annual subscription was three rupees.
(c) Within one year this periodical had loan of rupees five hundred.

(d) Ultimately this periodical had to be closed in the year 1929.

Answer Options :

(1) Samta (2) Bahishkrut Bharat
(3) Harijan (4) Mook Nayak
53. Sied o
W ‘A’ W ‘B’
(a) v sfdfhe e deX (i) wFH
(b) fefer fimd 4= (i) AR
(c) o= sfeeye AfF deriee e (i)
(d) ST dfeR wIm (iv) 4%
it I : )

(@ () (o (@
O @ @ 6O @
@ @ @ @ @
@) @ Gv) @) ()
(@) () @ (v) (i)
Match the following.

Column - A Column - B
(a) Bhabha Automic Research Centre (i) Kalpkam
(b) Reactor Research Centre (i) Tarapur
(c) Tata Institute of Fundamental Research (i) Trombe
(d) Automic Power Station (iv) Mumbai

Answer Options :

(@) (b)) (o) (d)
(1) @) @@ @ @)
(2) @) @) Gv) @
@ @ v @ @)
4 @ @ @) (@
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54. TH. 1861 =T YT IRU FERITHR GIAGIH! H0R1 fa9H,/3 Wey oma 2
(a) IR YRy
(b) T W
(c) - & fohsetomar yiy
(d) oo Sen T
Tafdt Y
(1) {a), (b), (c) 2 (9. (3) (a) (b) 4) ()
According to the Indian Councils Act of 1861, which sentence/s is/are correct ?
(a) To start Democracy
(b) To appoint Indian representative
() To start decentralisation of power
(d) To increase public representative
Answer Options :
1) (@), (b), (© 2 © 9 G) (@), ) @) () (d
55. WIF WERIY Sooe edl 96 Sbardiarat ¢ Had Fums'’ ¥ ugey SIvi |et $ o ?
(1) i 3R 99 (2) ORI IMUTS TS
(3) R o W (4) vl i S
For the public awareness in Sanyukta Maharashtra Movement, who presented a street play,
“Mumbai Kunachi” ?
(1} Shahir Amar Shekh (2) Lokshahir Annabhau Sathe
(3) Shahir Krishna Sable (4) Shahir Karim Shekh
56. U 3fEa Hif-To e FREH= TSIPRYRIT HE-T FHIIMAT FEid Bt bl THaY Foa™

e ?

(1) T3-S gumron HEs (2) HiTY-THBE GURI HIFAT

(3) 1935 =1 RAfTS HTERI @) 1861 91 IfsTa Fifwe e

By which Indian Council Act Indian people were admitted in the Legislative activities for India ?
(1) Morle-Minto Reforms Act (2) Montagu-Chelmsford Reforms Act

(3) India Act of 1935 (4) Indian Council Act of 1861

FHolT WIS AT/ SPACE FOR ROUGH WORK
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57. TSIYHR ShicR oot Hirer i yHe g ?
(a) ORRfETAE! Tl B0 S¥HE
(b) TR S T
(c) TavegEEyst fHeyamen
(d) fa=n g=E
vt e

(1) (b)), (d) (2) (9 (d), ®) (3) (a), (b}, (c) 4) (a) (d), (b)
Which social reformers literatures impacts on Prabodhankar Thakare ?

(a) Lokhitwadi Gopal Hari Deshmukh

(b) Mahatma Jyotirao Phule

() Chiplunkars Nimbandhmala -

(d) V.D. Savarkar

Answer Options :

(1) (), (). d) 2) (), (d), (b) G) @, @) (9 4 (a), (d). (b)

58. 1918 AY WefH fage vwsht iR =t gada sifocem wfas wRda sreqeaan Famor aftaes
T 31eney A4

(1) IO SATerRTS S (2) RS WA MEEHATE
(3) U] TRV WS (4) TSl SAYH

presided over Akhil Bhartiya Asprushyata Nivaran Parishad organized by Maharshi
Vitthal Ramji Shinde at Bombay i 1918.

(1) Ganesh Akkaji Gavai (2) Maharaja Sayajirao Gaikawad
(3) Senu Narayan Medhe (4) Rajarshi Chhatrapati Shahu

59. %, F& TN Gvid (ot fasire guTA sire.
(1) IgHEW (2) e afEE (3) el 4) TURF
With reference to D.K. Karve pick out the odd newspaper from the following.
(1) Induprakash  (2) Subodh patrika (3) Gangalahari (4) Sudharak

HeAT HIATHTS AT/ SPACE FOR ROUGH WORK P.T.O.
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60.

Hiae e dsHaey S T 31e ?

(a) WIEH e 9 HemE fafen IRa fier O e e w0,

(b) ST WG T EH FHR T FE.

it 36T

(1) % (a) faur we TR, (2) (a) 30T (b) FAuF s 3R

(3) (a) 3N (b) faum W oW (4) TH (b) fauE UG e,
What is true about the Cabinet Mission Plan ?

(@) An Indian federation would be formed consisting of the princely states and British Indian
provinces.

(b) Constitution committee and interim government would be formed.
Answer Options :

(1) Only (a) is true (2) (a) and (b} are not true
(3) (a) and (b) are true . (4) Only (b) is true
61. WA faum we.
(@) UREH AR HRER UM ShigeHor Higan THO 90 1.
(b) IS, HITER, FAN, IO & HE IR IR fiee ammea.
(c) TRRTET Yieen e FREM Yot I8 IHRUIM 1.
e 3
(1) waa [quM (a) SR TR, (2) faum (a) 3nftr (b) TR ARA.
(3) W faum (o) T a7 @) faur (a), (b), (c) T= TR
Observe the following statements :
(a) The sugar industry has been largely concentrated in Western Maharashtra.
(b) Ahmednagar, Kolhapur, Satara & Pune are leading districts in sugar production.
(c) The first sugar factory in Maharashtra was established in Mumbai.
Answer Options :
(1) only statement (a) is correct. (2) statements (a) and (b) are correct.
(3) only statement (c) is correct. (4) Statements (a), (b), (c) are correct.
62. FNEHE AT FM T MRAo waasa R fieaw fom sme.
1 FS (2) FR @) @ w
K2 in the Karakoram range is the highest peak in India locatedinthe _____ Himalayas.
(1) Kumau (2) Kashmir (3) Punjab (4) East
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63. SIS AL
oI /Feerdt &l e
(@) o TEren HHER famtan awn @) e
(b) oM WoER Feomr faeRfad ww @) FrEpOTEQ
(c) e AR formfa we (i) STIIEHER
(d) waTr= wa fawfaa awn (iv) THeTER
it 36

@ b © @
m O @ @) @)
@ @ @@ @O )
(3 ) @ @) (@)
@ (v) @ G @
Match the following.

Situation Settlement Pattern

(a) Settlements developed at confluence of two rivers (i)  Linear

(b) Settlements developed along meanders (i) Triangular
(c) Settlements developed along river banks (ili) Semi-circular
(d) Settlements developed around the lake (iv) Circular
Answer Options :

@ b © (@
® 6 @ @ @
(2) @ @) @ @)
3 @ @ @) @)
@ (v @ @) @

64. =i T F Jorim A Al HIH FCAMHR A Howe A SNSES 9 ?
(1) a4, (2) QErm (3) WOt (4) =g9m
What is the name of river after confluence of Wardha river and Vainganga river ?

(1) Wardha (2) Vainganga (3) Pranhita (4) Chandrabhaga
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65. TERISI® WS AWIARTE= SISAUF! HIVH! el g @ ?
AVEROT foe

(a) wWFl - TR

(b) mfgm - & ENER)

(c) TTHdTeH - EUSIEIS

(d) TSR - g

it 39

(1) (a) =T (b) (2) " (b) (3) (o) (4) (a) 3 (c)

Which of the following pair of Sanctuaries in Maharashtra is not true ?

Santuaries District ‘

(a) Rehkuri - Ahmadnagar

(b) Nagzira - Amravati

(c) Gautala - Aurangabad

(d) Maldhok - Solapur

- Answer Options :

(1) (a) and (b) (2)  only (b) (3) only (g 4) (a) and ()
66. WOGUH! HIUE HeHET TG SR TR g ?

(2) TSTET (b) i () TH

T S

(1) % (a) (2) T (b) (3) (a) S (b) @ (a), (b) 3 (o)

Which of the following factors affect human settlement. -

(a) Topography (b) Water (©)  Sunlight

Answer Options :

(1) only (a) (2) only (b) (3) (a) and (b) 4) (a), (b) and (q)
67. WIS TG W el

(a) O ¥ TERTEHS TE @l fUs o7,
(b) TN IS TAT S T SRR I B ST
(c) SIRHET ISR TAMM, ! THA A= Saggehdl TEd.

it 3T
1) (a) o4 9 &, (2) (a) A (b) faum Im7 ARA.
(3) (b)d (c) faum dra aTea. (4) w4 faum 9 s,

Choose the approprite answer from the following.

(@) Sorghum is a major food crop in Maharashtra.

(b) Sorghum is grown in both Kharif & Rabi seasons.

(c) Sorghum does not require warm weather & black soil.

Answer Options : :

(1) (a) is correct. (2) (a) and (b) are correct.

(3) (b) and (c) are correct. (4) All are correct statements.

THeAT HIUMETE AT/ SPACE FOR ROUGH WORK
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68. =¥, WEal, SEH, Meed fas aiHt o TmeH e
(a) frrtare
(b) FIEER
(c) e = forarareit
i SN
(1) W (b) SR 3. (2) B (a) TS TR,
(3)  (a), (b) S 3. @ (@), (b), (o) T AR
Blache, Fabvre, Bomen, Golden Bijar have supported to

(a) Determinism

(b) Possibilism

(c) Stop and Go Determinism

Answer Options :

(1) only (b) is correct. (2) only (a) is correct.

(3) (a), (b) are correct. (4) (a), (b), (c) are correct.

69. TE@UH gra IW FeEl
(a) T, fegd A T WA Hehedl WAL,
(by T, TA. Sfw 71 <A e B
(c) =N T et diiifos Tl GHeTl U gl S
ugtet 34T :
(1) K (a) TUS TR, (2) W (b) T IR,
(3) (), (c) I 3=A. (4)  (a), (b), () T e,
Choose the appropriate answer from the following.

(a) The concept of cycle of river erosion was introduced by W.M. Devis.
(b) W.M. Devis was a German scientist.

(c) The concept of cycle of river erosion is also known as the concept of Geographical Cycle of

Erosion.
Answer Options :
(1) only (a) is correct. (2) only (b) is correct.
(3) (a), (c) are correct. (4) (a), (b}, (c) are correct.

70. W RARIS AT Jesmean ol M=l HeM feHIedR arerd S0 e el foge g ?
1) W& A (2) WM ATA () WX A (4) R HSA

In which alluvial plain of North Indian plain where small rivers flowing down from Himalaya
disappears ?

(1) Tarai plain (2) Bhangar plain (3) Khadar plain (4) Bhabar plain
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71. g SirEel oE,
AL He@ S SaEE waT
(a) RN () =1 9EF e
(b) eAfE () RN
(c) FieF G
(d) BT (iv) o
gt Y

@ () () ()

1) @@ @ @) ()
2) @ @@ @) @
(3) @@ @) @ @)
@ @ @@ () (iv)
Match the following,
State Region of Iron ore production
(@) Maharashtra (i) Bababudan hills
(b) Orissa (i) Bastar
{c) Karnataka (iii) Chandrapur
(d) Chhattisgarh (iv) Bonai

Answer Options :

@@ () @ @
1 @ @ v (@)
(2) (@) @) @) @
(@) @) (@) @
@ O @ G @)

72. T oy W SoT WRAIST SiSt | 1989 ALl & FA04d 3T,
(1) b= (2) TEEET TEE @) fggt (4) TS
is a modern port of convenience in India launched in 1989 .

{1) Mumbai (2) Jawaharlal Nehru (3) Sindhudurg (4) Devgad

THAT FHIATETS JT/SPACE FOR ROUGH WORK



A ' 27 w16

73. YA SRR R SR @ i gRw i TSH VR
(1) SR 2) eifey (3) SEEH @) e
The wider rocks are formed at great depth from the surface are called rocks.
(1) Laccoliths (2) Batholiths (3) Dikes (4) Sills

74. GOS YN W@
(a) TICUG= WY SR & STUFATe HAET TR G,
(b) e W SEEE e Wi ity 3 s S v A A
(©) WU W SEE ae M Aviy & s I st Aol 2R
it 3
(1) FH (a) IR R, (2) HH (b) T IR,
) faum (a) 3nfn (b) TS 37T ) faum (a), (b) 3foT () IR A
Observe the following statements :

(a) According to Malthus population and food production both are increased.

() According to Malthus population increases in Geometrical progression & food production
increases in mathematical progression.

(c)  According to Malthus population increases in mathematical progression and food production
increases in Geometrical progression. ¢

Answer Options :
(1) only statement (a) is correct. (2) only statement (b) is correct.

(3) statements (a) and (b) are correct. (4) statements (a), (b) and (c) are correct.

75. @HE Aewd A Senden aegn faeid Hioe 9 vt ?
(1) 1798 (2) 1834 (3) 1788 (4) 1805
In which year Thomas Malthus put forwarded the population growth theory ?
(1) 1798 (2) 1834 (3) 1788 (4) 1805
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76. GIOIOUn HIOMI T WIUETE FU SeE feamy o A 2
(1) ¥ & (2) SeE] (3) ITE (4) =R
Which of the following Hot Water Spring is not located in the Jalgaon district ?
(1) Saav (2) Adavad (3) Unapdev (4) Changdev
77. TGN FHg A WSl 9o Ao SUEH T Wehfash fawm eTrees.
(1) TENY T8R (2) YEm =R
(3) TEYS SR (4) FrFT FAgE
Natural division is found between Arabian Sea & the Sahyadri Mountains.
(1) Maharashtra Plateau (2) Western Ghat
(3) Satpuda Mountain (4) Kokan Coast
78. WOGUH! IR fHH Yah TR ?

(a) TFTRNETd SHEde IW@ AU SRIEl o9 .

(b) TFTAToT TR WIS ST Sl 3T wae.

(c) TFRIFaTRT Tt U STHEE TIiET 9T el

waiE I

(1) () (2) e (b) () Q@ @A
Which of the following statement is wrong ?

(a) Waves slow down if the seabed is shallow along the coast.

(b) Waves slow down if the seabed is deep along the coast.

(c) If seabed is shallow along the coast, the speed of the waves increases.

Answer Options :

(1) only (a) (2) only(b) (3) (b)and (c) (9 (@ and ()
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79. PRI AR &1d ST IUIR 960 ITed —
(a) HIRETFY 55®
(b) THS W= 95O

(c) IR /S
it I
(1) (a) F[ (2) (a) S0 (b) @) (o) = @) =

Due to urbanization, there is/are changes in urban area.
(a) Demographic changes

(b) Change in social structure

(c) Behavioural changes

Answer Options :

(1) (a) only (2) (a) and (b) (3) () only (4) All of the above
80. SiSul AL
&g : e
(a) HEHE () e
() S (i) _wrﬁ &
(c) W (i) SR
(d) LEERIIEY (iv) EEdl
it I
@ (b) (o) (d)
1) Gv) @ @@ (@
) Gv) @) @@ @
3 Gv) G) @ i)
@ @ O @ @)
Match the following.
Land forms Agent
(a)  Waterfall (@  Glacier
(b) Zeugen (i) Sea waves
(¢) Beaches (iii) Wind
(d) Hanging valley {iv) River

Answer options :

@ (b)) ) (4
1) (v) @ @) @)
@) Gv) () @ @)
@) @) @ ¢ @)
@ @ @ @) @)
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81. woe faur el
(a) TR w1 srewHiT @Ew AR
(b) Ul B sEHyHTT GEw R
{(0) smouHR AfTera Wewm fafosa yamm 20% .
qaiE I
| (1) e a9 (a) S 3T
(2) FH faum (o) e e
(3) TauH (a) =nfW (b) SR 33,
(4) faum (a), (b) 01 (c) SR MR,
Observe the following statements :
(a) Granite is Acidic Rock.
(b)  Besalt is Basic Rock.
(c) In Acidic Ignous rock Silica content is 20%.
Answer Options :
(1) only statement (a) is correct.
(2) only statement (c) is correct.

{3) Statements (a) and (b) are correct.

(4) Statements (a), (b) & (c) are correct.

82. WWWQWWWW?

(1) fafes snfin drifos (2) Tafow sofnr S
(3) Tafes snfty sfegfufay (4) Tafost snfn s
Which minerals are mainly found in the Sial layer of the earth’s crust ?
(1) Silica and Magnesium (2) Silica and Iron
, (3) Silica and Aluminium (4) Silica and Zinc
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83. Sied o

(@) TATS - @) fem

® TR (i) S HIGER

() JeTER (i) TG A

@ fawrs (v) fetsh e

Tt 39

@ ®) @© (@
O ) @ @ O
@ @ v O o
(3 v @ @ @
@ O @ Gv) (@
Match the following.

(a) Raigad () Bhilma

{(b) . Purandar (ii) Tanaji Malusare
(¢) Daulatabad (iii) Sawai Madhavrao
(d) Sinhagad (iv) Hiroji Indulkar

Answer Options :

@ (& () (@
M @Gv) @) @ 6
@ @) @) @ @
@ @) @@ @O @
@ O @ @) (@)

84. & O gEem SRR s S| A Fibt wigd.
(1) WHEAR (2) WETR (3) TR (4) TR Y9Ed
The term was first coined by American geographer Gene Gottman.
(1) Megalopolis (2) Metropolitan  (3) City - (4) Nagar Panchayat

85. U TId® S ChERAGT 97T d fafaaq swes FEdd J9 a&i- I UG
(1) FHEE awi (2) Tage a=it
@) wfas st (4) svEda T

The settlement in which houses are physically separated and uneven distributed is called as

(1) nucleated settlement (2) dispersed settlement
(3) composite settlement (4) fragmented settlement
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86. UM FEEHTA TEA] FAHEAE HH FLOTAIE SR i 75,
(1) fedirrs (2) gt (3) W 4) “d®
In rural settlements, the highest number of people work in type of occupation.
{1) Secondary (2) Tertiary (3) Primary {4) Quarternary
87. ISl WY d Sl SUNIRIE foesunan e THE SfasT oe.
(1) gEEE (2) frEm =R
(3) fevred vea (@) Tefrd goa
is a major water divider of rivers flowing into the Arabian sea and Bay of Bengal.
(1) Eastern Ghats (2) Western Ghats
(3) Himalaya Mountains (4) Nilgiri Mountains
88. Yeheqmed AR Jefie faAmdere STaRres Yard! | $eied faumaasns fasiaa sivamn
HHEY 3.
(1) e (2) frem (3) iy (@) TRH
The project involves developing the airport at Nagpur into an international passenger
and cargo hub airport.
(1) Wuhan {2) Mihan {3) Authority (4) Transportation

89. TALHGH TIEVHS YT TR TSR T TR WO SR =l 06T FH S0 318 2
(1) wlwEs - FowEe - e -\
(2) WEEEH - AfNar - TlivEs - e
() @fSiar - WA - AeREE - T
(4) SO - T - et - ThwEg
Which of the following is the correct sequence of Mountain ranges from Sahyadri on the
Maharashtra plateau from North to South ?
(1) Harishchandra - Balaghat - Ajanta - Satmala
(2) Satmala - Ajanta - Harishchandra - Balaghat
(3) Ajanta - Satmala - Balaghat - Harishchandra
(4) Balaghat - Satmala - Ajanta - Harishchandra

el TS AT/ SPACE FOR ROUGH WORK.
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90. AT IHREN (FE) TGY TWEIGUH! HIVR HILO/HFRY R ?

) wfis fafy s (2) T T S GUEN oAl

(3) T SN SHHONIRT e () =t wd

Which of the following is/are reasons/a reason for the establishment of stable settlements ?

(1) To perform religious rituals (2) To give protection to women and children

(3) To protect from invaders’ attacks (4) Al of the above
91. WH fayH @ :

(a) SRS Hald GEs S0 T9ia) TUI.

(b) T TEVEINERIS HeT (IT. T, Yk, T, TGS 3.) T 94 M.

it 3O : .

(1) 9 (a) T 2. (2) FIB (b) TR AR,

(3) A T IR @) U s AR,

Observe the following statements :

(@) The lowermost layer of the atmosphere is known as troposphere.

(b) All weather phenomena (eg : cloud, fog, precipitation, storm etc.) occur in this layer.

Answer Option : :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both are correct (4) Both are not correct
92. G faye @ 2

(a) WU YNl PO HE@ TGl 7 GR 1970 U .

(b) TEN I AE HEr wgur s HeeEh IeEe 9.

i 39

1) FUA () TR . @ fauE ) R AR

(3) Taum (a) sufor (b) e e, (4) Taum (a) sufor (b) s A
Observe the following statements :

(a) Maharashtra Pollution Control Board was established on 7t September, 1970.
(b) Majhi Vasundhara Abhiyan is run by Maharashtra Pollution Control Board.
Answer Option :

(1) Statement (a) is correct (2) Statement (b) is correct

(3) Statement (a) and (b) are correct (4) Statement (a) and (b) are not correct
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93. Rferft a1 R Hewr Wdet ‘$Hiet’ (Ecology) ¥ WA g wagem 71
ORISR 1869 Wieh 7,
(1) IuH o 2 WML REsy (3) T I (4) R TR

The scientific name “Ecology” was first given to this important branch of Biology by a
German Zoologist in 1869.
(1) EH. Haeckel (2) G.A. Petridis (3) Miss Sample (4) . None of these

94. WA feRS Suwre Snfor v A wie e .

IR Raror A
(a) RISAT-2BR1 i) 23.09.2009
(b) GSAT-29 (i) 14.11.2018
(¢ INSAT-3D (i) 11.12.2019
(d) Oceansat-2 (iv) 26.07.2013
it 39T ;

@ () () @
(1) @) @) @ @)
) @ (v (@) ()
() @) @ vy 0
4 Gy @ @ ()
Match the following space-crafts and launching date.
' Space-craft Launching date

(a) RISAT-2BR1 @)  23.09.2009

(b) GSAT-29 (i) 14.11.2018
(c) INSAT-3D (i) 11.12.2019
(d) Oceansat-2 (iv) 26.07.2013

Answer Option :

@@ (b) © (I
1) @@ @ @ @)
) O (v) (@) ()
(3) () (@) (v) ()
@ () @ @) ()

95. ‘vfatuIite T Wit o Frofta gt wahla wea U ufteen’ € =wear 1935 e Hiolt H 2
(1) TS e (2) TEIAR e (3) 90 (4) sifdm
Who defined the ecosystem in 1935 as ‘The study resulting from the integration of ;111 the living

and non-living factors of the environment’ ?
(1) A.G.Tansley (2) F.R. Fosberg (3) Nebal 4) Darwin

heedl HTHES W T/SPACE FOR ROUGH WORK
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96, @SS faum Tl
(@) IR SiEUEs TR el (ISRO) =t T 1962 WA WAt
(b) e SAFTE YA RYA HedHhe 39 IR,
gt S
(1) TauE (2) SR R @) favm (b) e
(3) Taum (a) o1 (b) SR a7 (@) faum (a) fn (b) TR .
Observe the following statements
(a) Indian Space Research Organization (ISRO) was established in 1962.
(b} Thumba Rocket Launching Station is at Shriharikota.
Answer Option :

(1) Statement (a) is correct (2) Statement (b) is correct

(3) Statement (a) and (b) are correct (4) Statement (a) and (b) are not correct

97. foafaa duamdte Sy St SHoa EretH HIOK TE HR0 AR ?
S (1) DI HHR TR GRS FS
() = TRuiEE
(3) TR
(4) Tomimdie e
Which of the following is not a reason for low birth rate in developed countries ?
(1) Tendency to keep family size smalil
(2) High standard of living
(3) Urbanization

(4) Dependancy of women

AP
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98.

99.

G HI0 UM/ T e weT g smeyand ?

(a) FREFERE YT WU TEOned T fasima: fearoura Tgue i Y& TRl SraETer=
Qe WA 3R Id.

(b) TR YA YSIIG AR ST € A afired 3R,

() MYSIGT it SEl wed T TH AArEe] S WG e g1 g fag A,

(d) Tacds, Fr, Hfowta (U.S.A) 39 wean, T derigst SR SaRE e 3.

it 3T

(1) de faum (a) MmN (b) (2) wa= faud () s (d)

(3) e faum (d) (@) faum @), @), (0 s ()

Which of the following statement/s are associated with the phenomenon of temperature

inversion ?

(a) In morning especially during winters, in lower strata of atmosphere, pollution-base fogs are
of common occurance in smoke releasing factory cities.

(b) Over polar regions the temperature inversion is a common feature all the year around.

(¢)  The temperature is found to increase with elevation in the lower strata of atmosphere.

(d) The orchards in Switzerland, France, California (U.S.A) are found on the slope of hills rather
than on valley floors.

Answer Option :

(1) Only statement (a) and (b) (2) Only statement (c) and (d)

(3) Only statement (d) (4) Statements (a) (b) (c) and (d)

ot ‘ fae vadt’ W Sevia S fauma Set SR/ ?

(a) STTFIGISG MGG STIBIE HIE 0 & T el W SeW 3R,

(b) Tirer vl Sfaid ‘AEERIIE-R ' A1 WIGTE I9URe U Ao fHaRe gri 1 S0 .
(c) Taed =l ‘'DRDO’ R Hanfea Fvam 3o,

gt 39T
(1) = fauF (a) M (o) (2) &= faumF (a) M0 (b)
(3) W faur (b) (4) wd f&um (a), (b) 3 (o)

Which of the following statement/s related to ‘Mission Shakti’ is/are correct ?

(@) The main aim of Mission Shakti is to safeguard Indian Satellites in the space.

() Under Mission Shakti Indian Satellite ‘Microsat-R’ was distroyed by Anti Satellite Missile.
(c) The Mission Shakti was conducted by ‘DRDCO’.

Answer Option :

(1) Only statement (a) and (c) (2) Only statement (a) and (b)

(3) Only statement (b) (4) All statements (a), (b) and (c)

HSAT HATHS ST/ SPACE FOR ROUGH WORK
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100. GHGIH! IR faUR SR 37 ?

(a) ) Gfed U ST FR A, AT Ry B IS 3 3R A Ay Sewsi FH
HW AR,

(b) WRE R Higae TG el
(c) SIS qwH are i # § w7 dieds oF R,

it I ;
(1) (a) 3V (b) FF (2) (b) 30f () T
(3) (a) 30 () ®aa (4 o

Which of the following statements are true ?

(a) The Kyoto Protocol is an international agreement that aimed to reduce carbon dioxide and
other green house gases emission.

(b} India is not committed to Kyoto Protocol.

(c) Kyoto Protocol aims to control global warming.
Answer Option :

(1) (a) and (b} only (2) () and (c) only
(3) (a)and (c) only (4) All of the above

101. STTSONTS Seahi=l THIMTER =R o Sae ssHITHR Ho] Jg=] T2 Hgadh e ?
(1) 3iffeesH, TEgee, s, shes
(2)  SffferersH, e, e, s
@) T, sifaasH, shg, Ao
(@) TR, SitfrasH, oA, e

Which group of gases is correct in descending order considering the proportion of atmospheric
elements ?

(1) .Oxygen, Nitrogen, Argon, Ozone
(2) Oxygen, Nitrogen, Ozone, Argon
(3) Nitrogen, Oxygen, Ozone, Argon
(4) Nitrogen, Oxygen, Argon, Ozone

@reell HINTEIS W/ SPACE FOR ROUGH WORK P.T.O.



102. SIS @A
- = : FSTIOT R STRTOTT 2011
() ¥Em @ 999
(b) T ) 982
() T (i) 1122
(d) @ (iv) 928
it S

@ () (& (@

)
@ @ @) @Gv) (i)
@ @ @ @ )
)

@ v @ O @
Match the following :
District Sex-ratio census 2011
(a) Bhandara () 999
(b) Gondiya (i) 982
(¢) Ratnagiri (i) 1122
(d) Latur (iv) 928

Answer Option :

@ () () (d
@ () @ @) @)
@ @ @ @) @)
@ (@ @ @ @)
@ v @ @ @
S
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103. gatator sfudeF/afiag anftr ad gien Sred o

atarer sftdee/aftug
(@) AW
b oo
(c) fafmr
(d) =M
TG Y

@@ (M ((© (@
1 @ @ ) O
(2 @) @@ @ )
@) @ @ @) )
@ (v @O @ @)

a9
@ 1979
@) 1971
(i) 1985

(iv) 2013

Match the environment conventions and year.

Environment conventions

(a) Ramsar

(b) Vienna

(¢) Minimata
(d) Bonn
Answer Option :

@ ® ©
1) @) @) @)
@ @ @ @
@) O @ G
@ W O @

@
o

)
)
(@)

()
(i)

(iv)

Year

1979

1971

1985

2013

wie6
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104, GTSBIH! HIVEE FTHH T R ?

(a) SEEH T AATIY EeeaK.

(b) TSN T TG W/ I,

(c) amaERE ferier 100 fF.5f. I9=n 3 sg==.

(d) ST & qosa=it onfor ferraadt a1 wRRear frad s,
it Y

(1) (a) S0 (b) . @) () s ()

(3) (o) oW (d) (4) TR IR T
Which of the following statements are correct ?

(a) Storm clouds are found in mesosphere

(b) Troposphere is located above the mesopause

(c) Stratosphere found above 100 km altitude in atmosphere
(d) Ionosphere is located between tropopause and stratopause

Answer Option :

(1} (a) and (b (2) (b)and ()
(3) (c)and (d) (4) None of the above
105. AIEUURIGY HaWYRY o 19 fohdl 3ga ?

1) 10132fa=s. @ mno2frw (3 1213288 (4

Generally what is air pressure at mean sea level ?

(1) 10132 mb (2) 1103.2 mb (3) 12132 mb @)

760 fa.=m.

760 mb

FEAT HATES AN/ SPACE FOR ROUGH WORK
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106. & 2011 =1 FHUHTHR f-T0e AERISgRIS foregt YagA GE= FHHHER Sl ¢
(1 s (2 7R (3 HEIER (4 SR
According to the 2011 census, district in Maharashtra was ranked sixth in terms of
sex-ratio from the bottom.
(1) Beed (2) Nanded (3) Mumbai Suburb (4) Aurangabad
107. Ffisifen s gefaa Tets! Homk/d faumA g/ e/ ?

(@) @ yaiar sfuwan STl

(b) 7 feAe FHFAT B A

() S Tieia d o Sudiee N gféqu Mot arael sEse fadi sl
(d) =T 92 it ST SR 2.

aRyg g fael
(1) faum (a) i (b) (2) wH faum (d)
(3) Taum (b) 3nfir (d) @) faum (a) 3nfor (d)

Which statement/s regarding coriolis force is/are incorrect ?
(a) It is maximum at poles.
{(b) It weakens towards equator.

(c) It deflects winds to the right in north hemisphere and to left in south hemisphere.
(d) It directly affects the wind speed. |

Answer Option :

(1) Statement (a) and (b) (2) Only statemnent (d)

(3) Statement (b) and (d) (4) Statement (a) and (d)

HeAT HIHHEIS! T/ SPACE FOR ROUGH WORK 4 P.T.OV
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108. W feoea YRAE STESKIS SIReAT IRl TUTER 4 SIS s,

wWY-1 (qED ) wW-TI (7))
(a) ¥sSES (i 2021
by frew (i) 2014
(€ dm= (i) 2019
(d) A (iv) 2012
it =Y

@ () (g (d
(1 @ @ @) (i)
(2) @) @v) @@
@Gy @ O @) (@
@) @ v O G
Match the following Indian sub-continental stroms according to their year of origin.

Column-I (Stroms) Column-II (years)
(a) Hudhud (i) 2021
(b) Nilam (i 2014
(c¢) Tauktae (i) 2019
(d) Fani (iv) 2012

Answer Option :

@ ® © @
M ¢ @ ()
@ (@) @) @ 6
() @ ) v ()
@ @ ) 6 )

109. WIBGH HITR Tk L Sl feroner yfoms s ?
(a) T fRTuian Yyl B F1
(b) STRRIS Hare! Safeerdt
(0 wdem
(dy o= woEd (SiE)
i S
1) @ ®AMQ 2 b),0F M@ () ()T @ Fow
Which of the following factors affects the distribution of insolation ?
(a) Angle of sun rays to the surface of the earth
(b) Presence of moon in the sky
(c} Sunspots
(d) Length of the day

Answer Option :
(1) (a), (byand(c) (2) (b) (c)and(d) (3) (a), (c)and (d) (4) Allof the above

| ol SRR SN/ SPACE FOR ROUGH WORK
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110. GFE fau™ val.

(a) WWWWWWWM(MAm)ﬁWMMQ

FLOIT 3T,

b) =S YHeTHd SICOM 3Mfor MSRDC i= Wl SR,

At 3w

(1) Taum (a) TR AR, 2) TR (a) N7 (b) SR 3TT=A.

@) fauA (a) sR= =L 4) faum (a) 3001 (b) T R )

Observe the following statements :

(a) Maharashtra Airport Development Company (MADC) was established in 2002 to develop
airports in the State of Maharashtra.

(b) There is a Participation of SICOM and MSRDC in the above project.

Answer Option :

(1) Statement (a) is correct (2) Statement (a) and (b) are correct

(3) Statement (a) is not correct (4) Statement (a) and (b) are not correct
111, FUOHie S qad RTG Seo S Y WU

(1) AR 2) fagFamR 3) fat=m (4) TR

The winds blowing from the Alps mountain region in Europe are called

(1) Foehn Wind (2) Chinook wind (3) Sirocco (4) Khamsin

112. SIRTUMET 2011 SHTS AERTSE TG ShioTedl Tohieed Teiars WHI0l Sid 371e ?
(1) T Sy T s |
(2) A VFTREA AR YR
(3) ATRY WRTRE UTHOT 9T
(4)  UTHT I TR WRT
Which type of migration is higher in Maharashtra State as per census 2011 ?
(1) From rural areas to rural areas
(2) From urban areas to urban areas

(3) From urban areas to rural areas

(4) From rural areas to urban areas

HeAT HHES I/ SPACE FOR ROUGH WORK P.T.O.
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113. ST 2011 FHR, Wi fSiegian sre & TR (0 - 6) Gevfa saama o,

(a) WER (b) Vea e d) T
sy © (d) Tt

(1) (d), (b), (), () 2) (o), (b), (a), (d)

(3} (d). (a). (b), (¢} 4) (b), (d), (@), ()

Arrange the descending order of the following districts regarding child sex-ratio (0-6) as per the
2011 census. '

(a) Chandrapur {b) Jalgaon (c) Beed (d) Gondiya
Answer Option :
(1) (d), (b), (), (a) (2)  (c), (b), (a), (d)
(3) (9 @) () (© (4)  (b), (d), (@), ()
114. GASIH! HIRN AAENE R A FH AR ?
(1) qUier, AearaRr, fegaiay snftt aawes
(2) UeR, ferdisR, AAHSe M0 AeATaTr
(3) Ui, feydisR, weaEu st aaHEs
(4) TUER, dAIHEeE, HEAER anfur feraiar
Which one of the following is the correct sequence of atmospheric layers ?
(1) Troposphere, Mesosphere, Stratosphere and Thermosphere
(2) Troposphere, Stratosphere, Thermosphere and Mesosphere
(3) Troposphere, Stratosphere, Mesosphere and Thermosphere
(4) Troposphere, Thermosphere, Mesosphere and Stratosphere
115. ARNIEERHE Gioie fauM 9T (SFRoFn 2011).
(a) 2001 9 2011 31 SVEHS Hi T2 DHGEN JHI & oA TUHTAT (1991-2001) FoAa 6.74 ToTt
T

(b)  2001-2011 41 TwEfieh Fieal T WAld S SFGEA IR0 0= Aig 70 fieeam woet faga
. '

it S

(1) faum (a) S T, (b) S 3R

) T fauE (a) ST (b) SER TG

(3) 2= fauM (a) oy (b) = a7RA

(4) Taum (b) R A, (a) = 3R

Observe the following statements regarding Maharashtra (census 2011).

(a) Decade 2001-2011 when compared with previous decade (1991-2001) shows an reduction
in population growth rate by 6.74 points.

(b} In 2001-2011 decade the highest population growth rate has been recorded in Pune district.

Answer Option :

(1) Statement (a) is not correct, (b} is correct

(2) Both statements (a) and (b) are not correct

(3) Both statements (a) and (b) are correct

(4) Statement (b) is not correct, (a) is correct

THEST RIHTETS! AW/ SPACE FOR ROUGH WORK
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116. TEE SEIEAMHE, Hod S I fieer & o7,
(1) < A= (2) 10% (3) 60% (4) 90%
In an Aerial photographs the overlapping area between adjacent photographs is approximately

(1) Nil (2 10% (B) 60% 4) 90%

117. YR HAGAHE W1 TRHIIER Heotl 9Sd fehan Fotan e Bt degt ioren @i TemR fordn o weha ?
(1) ST, TR S0 qUadT
(2) TEHsY, FRE MU T
(3) wEHEY, TEROT S HAyEdT
(4) weHeEy, TER AIf wOada
In remote sensing which of the three forms of interaction that can take place when energy strikes
or incident upon the surface ?
(1) Absorption, Transmission and reflection
(2) Association, Transportation and reflection

(3) Association, Transmission and refraction
(4) Association, Transmission and reflection

118. foggeaig avive 7 GEEAM TPM Gt um AR
(1) 10724107 (2) 1027 103 @) 1043 10° (4) 04907
In Electromagnetic Spectrum the wave length range of visible lightis _ pm.
(1) 1072t 1073 (2) 102to 103 (3) 10% to10° 4) 04to0.7
119. MRAT=A IRS (AEARTH) TSNS 9 370 & TEA AR,
(1) fer suwE (2) gAFTR IR
(3) e SuwE (@ fageeds swe
All satellites belonging to India’s IRS series are of type.
(1) Geostationary (2) Sun synchronous
(3) Moon synchronous (4) Equatorial
120. Sidiey faegh Sfrfiade e fuffa =0 s .
(1) 39% S (2) & Wi
(3) v IS (4) A=
The means by which GPS signals are used to determine ground positions is called
(1) Satellite orbit (2) Data receiving
(3) Satellite ranging (4) Data measurement
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121.

122,

A=A o8 e S Higaoed WA e qiol AueTiet g we oRiE et SRt T g
TR .

(1) fE Frbemm () T FET wrEe

(3) it feor shreferean (4) TR EEaw SRt

The ratio between the quantity of water stored in root zone and the water needed in the root zone
prior to irrigation is called as .

(1) Irrigation efficiency (2) Water conveyance efficiency

(3) Water distribution efficiency (4) Water storage efficiency

TeTeUR IREEST TR RO S SR ?

(a) SEA (b) IR / 3G () famrem
it 39

(1)  (a) SO (c) T (2)  (a) O (b) o

(3) (b) AN (c) e 4) whowd

Which of the followings are the overall functions of ecosystem ?

(a) Production {b) Consumption () Decomposition
Answer options :

(1) (a) and (c) only (2)  (a) and (b) only

(3) (b) and (c) only (4) Al of the above

123.

QOIS IV U ¥ TR GadaEt T Faaoe fod ot snfn feares @ aegdismg Iaai=n
AR FHT0ATY 3 ?

(a) He Tog (b) AR AU (©) wRF
i 39
(1) ™ (a) (2) i (b) (3) T (o) 4) i

Which of the followings is/are the long lasting and sustainable vegetable control measures of gully
control for conservation of soil ?

(a) sod flumes (b) shrub checks (¢) trees and shrubs

Answer Options :

(1) only (a} (2) only (b) (3) only (c} (4) All of the above
124, F 39 Teeg/fa @ § (IW/CPE) oI g9ifed =1, S Wt =,

1 f (2 = (%) ¥ (4) e @

Smaller IW/CPE ratio indicates irrigation at __ intervals.

(1) longer (2) smaller (3) equal (4) None of the above

AT FIEET AR/ SPACE FOR ROUGH WORK
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125. O geRa (URREWE) e siidure (WA ofedRs) W TWa el €,

Tl 3.

(1) 1.20 (2 2.29 (3) 1.66 4 1.39

Conversion factor of K element into K,O is .

1) 1.20 @ 2.29 (3) 1.66 @) 1.39
126. T o qoane franfen fafaydsn sl freha o

(1) Shae (2) WMo fafquar (S fafawmr)

(3) S P (4) & FEEE

deals with the degree of nature’s variety in the biosphere.

(1) Biology (2) Biological diversity (Biodiversity)

(3) Bio-atmosphere {4) Bio-climate
127. Sied 9.

( afraelt) ( Foat /et

() ffefe () wifdwe (Fataw)

b) fermA @) Affafeam

() Tareeda (i) PlFRTAE

(d) fefsdm (iv) o

At 39 ;

@ (& (9 (9
1) @ @ Gv) ()
) @ () @ (i
@) @ @) @ )
@ @@ @) @)
Match the following :

(Drugs/Medicines) (Plants/Fungus)
(a) Penicillin (i)  Periwinkle (Catharanthus)
(b) Quinine {(ii) Penicillium
{c) Vinblastin (iii) Foxglove
(d) Digitalin (iv) Cinchona

Answer Option :

@ (b) (9 (d
1) @ @ @) (i)
(2) (@) @v) @ (@)
G) @ Gv) @ @)

@ ) @) @) @

_—
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128. TH= FREHIE HIQ H2F TR wiaw ?

(2) SR WA (b) St T

(c) fa=A wamrE g (d) T yar= @i

it I

O @G @ GANQ @) @AM @ How

Which factors influence irrigation efficiencies ? - "

(a) Soil texture (b) Land surface\ T

(c) Capacity of irrigation streams  (d) -Length of irrigation streams

Answer Options : :

(1) (a) and (d) (2) (b) and (¢) (3) (a) and (c) (4) All of the above
129. VG Y= Sa FHeE=1 Ta V[ Sfeg W a2

(1) SHeEEd 2) SHeda

(3) HFHSAIER (4) ¥

Which type of soil organisms use organic compounds as their source of carbon ?

(1) Autotrophs (2) Facultative

(3) Chemoautotrophs (4) Heterotrophs
130. TAEIAAES e Goam= qaia faa 3 1@ 2.

(1) wfemam (2) umfem (3) (4) TR

promotes early root development and growth in plants :

(1) Calcium (2) Magnesium (3) Nitrogen (4) Potassium -.
131, food Tase | wien TEEE SIFTEs S e TEY AR S oA

e B

1) @t (2) &® (3) I ®W (4) RO F

in irrigation water bring about changes in soil properties by their chemical composition
and total concentration.
(1) __ Minerals (2) Salts (3) Cations (4) Anions

S
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132. WIS Ho faue st R ?

(a) TSN (ITA(TE) TTEH AAEONS T A9 FE T T,

(b) TR ST € Y SN FHEE TEE TG FE SRS Ao I,
(€) TS Yot Fedlie FTaT SEAREUESH a9 FT AHd AR

watdt s ;

(1) () (2) T (b) (3) () (4) Fowd

Which of the following sentence is true ?

(a) Higher plants are unable to make use of atmospheric nitrogen.

(by Growing plant mainly depends for its carbon on carbon dioxide of air.

(c) Higher animals cannot utilize the CO, of the air.

Answer Options :

(1) only (a) (2) only (b) (3) only (c) (4) Al of the above

133.

FoAT HAMS 9T/ SPACE FOR ROUGH WORK

TISOYeh! HIVR T TR SANT Nadedi Wl SigA SvaTe HRUYE Rd ?

(a) WY (b) SHEE TeF (STHETII)
© T (d) wIfFren aTR

it I

(1) (@) 0 () F= (2) (b)=nf (d)

(3) (a) MO (b) FeH 4 =lewd

Which of the following factors are responsible for run off of water from catchment area to form
pond ?

(a) Rainfall (b) Soil Topography
(c) Soil (d) Land use -
Answer Options : |

(1) (a) and (c) only (2 (b) and (d) only
(3) (a) and (b) only (4) All of the above

P.T.O.
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134. TS Slredl o5,
(a) IfET= Frex 3nfy Teg W@ () oTTEEges Wiw s

(b) SifiHrEn qufed (i) fafes anfor g

(c) wfarar wieq & ‘ (i) i weref anfoy st srfwarde @i fag
(d) et aiFe (o) O (iv) T dfgy ugref

It 3=y

. @ (b) (9 (d

(1) (v) (i) (@) (i)

@ G () @) @

(3 (v) @) () (@)

@ @ @) @ )

Match the following :

(a) Black and dark grey colour of soil ()  Unhydrated ferric oxides

() Brown colour of soil (i) Silica and lime
{c)  White colour of soil (iif) Mixture of organic matter and iron oxides
(d) Red colour of soil (iv) Mainly organic matter

Answer Options :

@ (b)) (¢ (d)
(1) () (i) (i) (i)
(2; (i) () (iv) (i)
)

(3 (v) () (i) (i)
(4 @ v @ (i)
135. Wil i, Gre (M) it fahmmdt qoenes g sraoedn WaTve TR
(1) e 9 (2) P wuRE
(3) SR St @) = () w0
The relative proportion of sand, silt and clay in soil is known as
(1) Soil texture (2) Soil structure
(3) Soil texonomy (4) Soil separates
136. 1 3nfo wfec/as aren sfiEemdte wERgs« T TR HRE WAl STE.
1) TEfERTeE (2) speivTEE
(3) Firmerw (4) STETE ,
The interaction of energy and materials in the ecosystem is of primary concern to the
(1) Ecologists (2) Geologists
(3) Agricultural scientists (4) Botanists
137. STl SIS Had 1o = T .
(1) 2FeT 3|9 2) Yips (3) wH® 4) TFfem sreies]
The biggest flower in the plant kingdomis .
(1) Titan arum (2) Sunflower (3) Lotus (4)  Rafflesia arnoldi
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138, TIAEYH! P faer e o8 ?

(a) THETEE FRUTEH GieumaTn AR Fean AT T fiw St ale S Foar s e
.

() TR TRafes Tisarn AR S FfH FSfHE (Cd) ST Evar i e 9.

it I

1) (a) faum R oM.

(2) (b) faurT Fh=R .

(@) 2= (a) 3T (b) Forer =l oM.

(4) wOUH THel fauE e 9.

Which of the following statements is correct ?

(a) Use of municipal waste water for irrigation leads to substantial increase in accumulation of
Zinc {Zn) and Copper (Cu) in soils.

(b) Use of municipal waste water for irrigation leads to substantial increase in accumulation of
Cadmium (Cd) in soils.

Answer Options :

(1) (a) statement is correct

(2) (b) statement is correct

(3) Both (a) and (b) statements are correct

(4) Neither of the above statement is correct

139. T=AT WHGYH! U] UreETeR Ardie WE qerei=n yure 9sq) ?
(a) SIHFET FOGRIT (FHURRY) Srefavary It fifesd.
(b) U HisfauETE &HAl aTEq.
() = HEHt WuF e AT Som TR EE S w.
(d) 4, TG, Tuw o e 31=1ged € Gisd 1eE U qEq daam.

it I
(1) () 30 (d) 2) (b) HfW (o)
(3)  (b), (o) = (d) 4 ow

Which of the following properties of soil are influenced by soil organic matter ?
{a) Encourage soil granulation

(b) Increases water retentive capacity

(c) High CEC minimise the leaching losses of nutrients

(d) N,P.S and micronutrients are held in organic form

Answer Options :

(1) (a) and (d) ) (¥ and (0

(3) (), (c) and (d) (4) All of the above
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140. Fer=a1 SR ToRTeors (WIS A1) W Wions st A G sEee (IUd) gua?
(a) Hfew w@d ama
(b) SAT=STEATE AT
(c) ATURTET O/FHR FET BRI G Sy

(d) gu ek gt

L D s

1) (a) (2) (b) 3 (d) we

(3)  (a), (D)3 (c) B (4) o wd

Suggest suitable management practices to mitigate the adverse effect of drought on crop
production :

(a) Apply bulky organic manures
(b) Use of muiches

() Growing drought resistant crops
(d) Intensive cropping system
Answer Options :

(1) (a) only (2)  (b) and (d) only
(3) (a), (b) and (c) only (4) All of the above
141, S, TUrele &9 HEWNH, TN ATaeT gard It saaere et ufgeen friee T
HAFE TafaeaE T BV faudia uftomy &t e adis.
(1) ST oHHarE 2) THB
(3) THH TS (4) HH ISEEE
The adverse impact of can be reduced by implementing programmes like water
harvesting, watershed management, climate smart agriculture and ecosystems management.
(1) global warming (2} famine
(3) climate change (4) less rainfall
142, TS FIOR G & ArE g duw de e ?
() B ST T (b) T 3ufn e
(c) ¥Egn oo SEig (d) IgE T TH
At 3 ;
(1) (a) 3T (b) B (2) (b)  (c) Bk
(3) (a) 30T (c) TR (4) (b) 0T (d) e
Which of the following crops are soil erosion resisting crops ?
(a) Cowpea and green gram (b) Sorghum and pearl millet
(c) Groundnut and black gram (d) Cotton and maize
Answer Options :
(1) (a) and (b) only (2) (b} and (¢) only
(3) (a) and (c) only (4) (b) and (d) only
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143. St &l
(A 3TEE ) (=)
(a) = (fiF) () A Yeffen fawm 9 9@
(b) TiSwEE™ (i) VRREYOYR WEl Eva®
(0 (i) ¥ Fede fema = fudem
(d) =RA (iv) I TIARFES U
g I

@ (& (© @
O @ ™ @ @
(2) (v) (i) (@) (@)
@ @ @ @) (@)
4) @ @ G @
Match the followings :

(Micronutrients) {Function)
(a) Zinc (i)  Development and growth of new cells
(b} Molybdenum (i) Essential for photosynthesis
(<) Chlorine (iii) Nitrogen fixation in legumes
(d) Boron (iv) Constituent of several enzymes

Answer Options :

@ ® © (@
O @ @ 6 )
@ @) @) @ @
@) @ () @) ()
4) @ @ @) @@

W16

144. Y1 frld= E@iedst fFehig ves R Ra ?

(@ @I (7@ s i Bi)
(b) FITE wEEE A

() FAEF afor <he

@ 3¥®

it I

(1) e (a) S (b) (2) I () I (d)

(3) W (a), (b) MW (c) (4) T (a), (b) W (d)

Which of the following are the passive soil forming factors ?
(a) Parent material (Rocks and minerals)

(b) Topography

{(c) Vegetation and organisms

(d) Time

Answer Options :

(1) only (a) and (b) (2)  only (c) and (d)

(3)  only (a), (b) and (c) (4) only (a), (b) and (d)
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145. WoErgf¥Emg SO fearg 1 YR FOTT FHOR Hredm.
(1) 97 anfor Fe (2) WUER STEREHAl
(3) WESiel WERHaY (4) ITHBSIE ERETY
Anaerobic bacteria are classified under basis.
(1) Nutrition and energy (2) Oxygen requirement
(3) Symbiotic relationship (4) Non symbiotic relationship

146. TSR fHRm FRFHT 6T Wow BN,

(a) T T Uit Hadw (b) T HHST (T TANR)
(c) Yiw aEmH (d) v S TR ugdt
it I ;

(1) W (a) S0 (b) (2) W (a) W (c)

(3) e (c) 3fr (4) (4) I wd

The main components of watershed development programme are :

(a) Soil and water conservation (b) Water harvesting

() Crop management (d) Alternate land use systems

Answer Options :

(1) only (a) and (b) (2) only (a) and (c)
(3) only (c) and (d) (4) All of these
147. % afife v ufmeEn T S,
(1) % sHA (2) TS (3) (4) SOTUR IR TR

can be considered as a natural type of ecosystem.

(1) Crop land (2) Forest (3) Garden (4) None of the above
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148. ¥ fasret qroaTE e 3T,
(1) 1503200 iRt (2) 900 ® 2500 Rt (3) 400 d 600 feft  (4) 450 o 650 T

A water requirement of rice crop is

(1) 150 to 200 mm (2) 900 to 2500 mum (3) 400 to 600 mm (4) 450 to 650 mm

149, GOGIH! SN YA/ AR SGE TIomT SR ?

(a) <RI AEEH TG (b) WHETA! UIGetd A8
(c) W SARFEER gftomm (d) e gfom
i 39T

O @aE @ @G @ Gt @ Fe
Which of the followings are the impacts of enhanced greenhouse effect ?
(a) Global temperature increase. (b) Rise in sea level.

(c) Effects on human health. (d) Effects on Agriculture.

Answer Options :

(1) (a) and (b) (2) (c) and (d) (3) (b) and (¢) (4) All of the above
150. Wi & s YT TR Fi 9 YREEY oo e sEdn.
(1) i (2 = (@) TEEtHE (@) Thot=t HoRE
- Protein is considered as compound which make up the structural aspects of an
ecosystem.
(1) inorganic (2) organic (3) chemical (4) None of the above
-000-
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Al — (Y 1 964 q2....)

(8) wyfaenyl fafea wowm fafire srle +=9 & (6 3F) WE.  THyfareafaiaa ST 91 SR FIRET
F A Hod™ d FT A R FOS AR, I AAS TES 9 TEN SHCARER TMEAH S hosedn ** qireimsd
BN SR Tfass FvaEmEas afufaa-82"" arie TEETan FIEE F104[ 250 9 N e 0 Th
auf= HREET=N 37101/ fhan T8 T eI W= Sere fdw 1w 2.

(9) TEX WETIHHAS T fafen FOe 9% YU SHEARE € WeYRa®T Tasiet TSI 35T S
TET HR. W TUHTERTETT ATUAYE! A e IAiehar WNT-1 GHagaEee 7 faawar v wwor
AEFTF 3K

AT U@
W. @ 201. T = T FOAEET HOT Gord: TIS He ?
(1) @t gaHg TE (2) SvEEs faemErn
(3) ST qWARA T (4)  TirTEF TG
T YR AT IR (3) TN TR 90 O AR, R W Y IW Y (3)" SRe IRad WoedHm
T . 201 T sw-FEw 1 (3)" ¥ ados i IR FEA Jrafan SEveh IR, ‘

%200 @ @ @
ST TS TEE TR WelT Jerdl g SHEAIE @ JReen s JiEeedl Statehade
= N TS e ade o SEifed wET JEaEl.  PiehNaT e Hieoar Y S
T, WFEE ar Y O que L
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